Review for retakes Name @\ — hr

pH = - log [H:0]
1. Write the dissociation equation of water [H:0%] = 10PH

2Wh0= Ha.()k + QH” pOH = - log [OH-]

2. What is the name of H30* ? th r'amu.m pH +pOH =14

_ [H:O'] [OH] =1x 100" |
3. Whatis the name of OH-? l’_\y d rOX ld_ﬂ

4. In asolution with pH = 7, how does the [H30*] compare to the [OH"]? ((‘kiuhclj)
Which do you have more of? , H,_D'r? = (UH -'
5. What is the factor between each pH unit (pH =1 and pH = 2)? iG)('S

6. What is the factor between 2 pH units (pH =4 and pH = 6)? /Cﬂx’s

b

What is the pH of a solution of 0.0023 M HBr? 2 (ﬂq |
Jp““’l%{w' loo (0. 0023)=2.4 ‘
/__@. What is @hepH of a solution w1th 9.8 x 10-°M H30+? O { D( - Yo l
ot ety (9.8x00) = ~log 9.8 BE] e =5
9. Whatis the£H of a solution with 0.0023 moles of HBr in 6,830 Liter of water? Uaﬂ ?‘
M= OOO" melz 3.3 CIm ,oH' “log, 3 3MEE]F =Y F

10. Ifa solutlon has apH=29.2, then [H30+] = (, ,j)_‘[() acidic o@asi&?/{) H above ?_)
-PH
[Hat 1= 1D (I05)-
11. lfa solutlon has a pH = 6.7, then [H,0] = Z,g YJ/0% Cacjdjéo- r basic? é),i/é, P -befows ?) |
_____ _ |

— 1.0, a_&olutlon hqs a [OH-] =6.3x 109, then [H50'] = [,;’fi /O @orbas:c?
@30!’) (UHJ IHW‘ (_Hbc}'j* l:lg‘_g o }

r R
13. If a solution has a [H;0*] = 8.1 x 10 2, then [OH 1 = |, 23%/( glsacidic or basic?

(Eoo o b ir ) o] = XSS

AL
14. If a solution has apH=10.6, then pOH = _ 3. ‘_'f acidic or basic?

[eur@oH=14]  14-1C.= 34 ‘
15. If a solution has a pOH = 5.7, then pH = 5 2) acidic or basic?

(eHPHM] 457 =83 |




